YR 7EYY

REXV YT
MHEEERD SRE

EE&
MtEft > A ENEE S
®H1Xp3..p65H

U1 X¢p65..M30H

&7 7O HEER

48

¥4 T M12/M18/M30 H

B&PLUS

4

e N

a

BALLUFF

& : POM

*MI8 HLUMIO DY —IL K214 T IE7 7O REEABLTVET,

B&PLUS ~Hi& (mm)
A () AlE BALLUFF Bzt a b © d e f WEEAT
BES-AC8 M8 8 14 12 1 0.3 =V R
BES-AC12 (BES12-SM-2) M12 10 16 13 3 1 —IJVR
BES-AC18 (BES18-SM-2) M18 9 22 19 2 1 —JV R
BES-AC18T M18 15 22 19 2 1 J =LK
BES-AC30 (BES30-SM-2) M30 15 36 31 3 2 =V R
BES-AC30T M30 22 33 30 3 1 J Y=LK
. HE  PA6
*g‘ KB3F
M vy o () @] ik (mm)
Cet RLAE 1> “R B
,_ 00 [@g | | = @D
] o . A BES 03.0-KB-3 3
% 12 16 BES 04.0-KB-3 4
£ BES 05.0-KB-3 5
BALLUFF | "BES 06.5-KB-3 6.5
& MHE : PA6
il | <Euy
=
1§ @ g % m
I =" %
[0}
e J
& H BALLUFF ~Ti& (mm)
Ll ()Aid BALLUFF ®#zt ¢ D A B © E ¢F o¢G H | J
BES-AF6.5 (BES06.5-BS1) 6.4 17 27 16 12 8 4.5 4.5 8 1
BES-AF08 (BES08.0-BS1) 7.9 17 27 16 12 8 4.5 4.5 8 1
BES-AF12 (BES12.0-BS1) 11.9 22 32 20 12 8 4.5 4.5 10 1
BES-AF18 (BES18.0-BS1) 17.9 26 36 26 12 8 4.5 4.5 13 1
BES-AF20 (BES20.0-BS1) 20 32 45 30 15 10 55 55 15 2
BES-AF30 (BES30.0-BS1) 30 42 55 38 18 10 55 55 18 1.5
c o, ME:F7O>
G
1:3— <| o
1)
afll
<1_5>
BIPLUS ‘_}-If (mm)
itk D A B © E ¢ F ¢ G
BES-AF-12F M12x1 26 40 20 4 7.5 4.5
BES-AF-18F M18x1 38 50 30 5 9 5.5
BES-AF-30F M30x1.5 44 60 40 6 10.5 6.5




REX YT
BE&
XY T4TR) =T

XYL TATRY) =T
T Y REOMNEROBRENS AR AR > YABRELI= v b

@I 30mm LDt YA c D MEEBHK =y T Ay F

PX0743a

=BE G =CF

BALLUFF Tj"}f (mm)
LilEa A ¢ B © Dmax. E F G
BES08.0-KH-2S* M12x1 8 17.5 14.5 SW17 SW17 4
BES12.0-KH-2S* M16x1 12 195 14.5 SW22 Sw22 4
BES18.0-KH-2S* M24x1.5 18 20.5 155 SW30 SW30 5
BES30.0-KH-2S* M36x1.5 30 20.5 15.5 SW41 SW41 6

*F7A - MEBLUAEMR /Ny 2RI, BRXEREIC [/W] 203 TS,

QX IEA5Mm LU EDE YA c D MEER=-— v T Ay X
14 i e

©

g

2 ==k TG = ==%=F

& BALLUFF <Ti& (mm)
A A ¢ B © Dmax. E F G
BES08.0-KH-2L* M12x1 8 34 14.5 SW17 SW17 4
BES12.0-KH-2L* M16x1 12 30 145 SW22 SW22 4
BES18.0-KH-2L* M24x1.5 18 40 18 SW30 SW30 5
BES30.0-KH-2L* M36x1.5 30 40 18 SW41 SW41 6
*F7O - b LA/ Sy 236kiIE. BXKEIS [/W] 20T IV,

BBUIZ 1) — T )
SHERAY T c o ME  PBT+#5Z (X1 — Tk
BR-v T Ay X (Fv )
< & — — - —H -
g al
X E G =eF
BALLUFF | i 1 hJL % © BNm ik (mm)

LilE A ¢ B © Dmax. E F G H*
BES08.0-KH-3L M12x1 8 34 145 SWI7 SWI7 4 05 93440 7
BES12.0-KH-3L M16x1 12 30 145 SW22 Sw22 4 1 B - 24
BES18.0-KH-3L M24x15 18 40 195 SW30 SW30 5 1 e r—
REEOMEN 05 13 Tmm FH YU ET, BES

SPZ Vi
Z2)—7

B&PLUS




